
Problem report for:

Recursive[CASL,CRSV,MONO,slnt,wght].ttf
sha1: 935fc86524575994452a8f3f619401a4efe9489e
Family name: Recursive
Version: Version 1.085

Tolerance: badness; closer to zero the worse

Colored contours: contours with the wrong order

Suggested new contour start point

Contour start point in contours with wrong direction

Contour start point when the first two points overlap

Contour start point and direction

Legend:



Glyph name: .notdef tolerance: 0.94

kink

'CASL=1.0'

'CASL=1.0 wght=800.0061'

midway interpolation

proposed fix

\_(")_/



Glyph name: .notdef tolerance: 0.94

kink

'CASL=1.0 MONO=1.0'

'CASL=1.0 MONO=1.0 wght=800.0061'

midway interpolation

proposed fix

\_(")_/



Glyph name: Euro tolerance: 0.88

kink

''

'CASL=1.0'

midway interpolation

proposed fix

\_(")_/



Glyph name: Oslash tolerance: 0.93

kink

'CASL=1.0 MONO=1.0'

'CASL=1.0 MONO=1.0 wght=800.0061'

midway interpolation

proposed fix

\_(")_/



Glyph name: Oslash tolerance: 0.91

kink

'CASL=1.0 wght=800.0061'

'CASL=1.0 wght=1000.0'

midway interpolation

proposed fix

\_(")_/



Glyph name: Oslash tolerance: 0.93

kink

'CASL=1.0 MONO=1.0 wght=800.0061'

'CASL=1.0 MONO=1.0 wght=1000.0'

midway interpolation

proposed fix

\_(")_/



Glyph name: Oslash tolerance: 0.92

kink

'CASL=1.0 MONO=1.0 slnt=-14.0497 wght=800.0061'

'CASL=1.0 MONO=1.0 slnt=-14.0497 wght=1000.0'

midway interpolation

proposed fix

\_(")_/



Glyph name: Oslashacute tolerance: 0.93

kink

'CASL=1.0 MONO=1.0'

'CASL=1.0 MONO=1.0 wght=800.0061'

midway interpolation

proposed fix

\_(")_/



Glyph name: Oslashacute tolerance: 0.91

kink

'CASL=1.0 wght=800.0061'

'CASL=1.0 wght=1000.0'

midway interpolation

proposed fix

\_(")_/



Glyph name: Oslashacute tolerance: 0.93

kink

'CASL=1.0 MONO=1.0 wght=800.0061'

'CASL=1.0 MONO=1.0 wght=1000.0'

midway interpolation

proposed fix

\_(")_/



Glyph name: Oslashacute tolerance: 0.92

kink

'CASL=1.0 MONO=1.0 slnt=-14.0497 wght=800.0061'

'CASL=1.0 MONO=1.0 slnt=-14.0497 wght=1000.0'

midway interpolation

proposed fix

\_(")_/



Glyph name: W tolerance: 0.94

kink

'CASL=1.0 slnt=-14.0497'

'CASL=1.0 slnt=-14.0497 wght=800.0061'

midway interpolation

proposed fix

\_(")_/



Glyph name: arrowdown tolerance: 0.95

kink

'CASL=1.0 slnt=-14.0497'

'CASL=1.0 slnt=-14.0497 wght=800.0061'

midway interpolation

proposed fix

\_(")_/



Glyph name: arrowdown tolerance: 0.95

kink

'CASL=1.0 MONO=1.0 slnt=-14.0497'

'CASL=1.0 MONO=1.0 slnt=-14.0497 wght=800.0061'

midway interpolation

proposed fix

\_(")_/



Glyph name: arrowup tolerance: 0.95

kink

'CASL=1.0 slnt=-14.0497'

'CASL=1.0 slnt=-14.0497 wght=800.0061'

midway interpolation

proposed fix

\_(")_/



Glyph name: arrowup tolerance: 0.95

kink

'CASL=1.0 MONO=1.0 slnt=-14.0497'

'CASL=1.0 MONO=1.0 slnt=-14.0497 wght=800.0061'

midway interpolation

proposed fix

\_(")_/



Glyph name: atilde.simple tolerance: 0.94

kink

'CASL=1.0 MONO=1.0 wght=800.0061'

'CASL=1.0 MONO=1.0 wght=1000.0'

midway interpolation

proposed fix

\_(")_/



Glyph name: itilde.simple tolerance: 0.94

kink

'CASL=1.0 MONO=1.0 wght=800.0061'

'CASL=1.0 MONO=1.0 wght=1000.0'

midway interpolation

proposed fix

\_(")_/



Glyph name: ogonekcombo tolerance: 0.94

kink

'CASL=1.0'

'CASL=1.0 wght=800.0061'

midway interpolation

proposed fix

\_(")_/



Glyph name: one tolerance: 0.77

wrong_start_point

''

'CASL=1.0'

midway interpolation

proposed fix

21



Glyph name: one.pnum tolerance: 0.77

wrong_start_point

''

'CASL=1.0'

midway interpolation

proposed fix

22



Glyph name: oslash tolerance: 0.94

kink

''

'MONO=1.0 wght=1000.0'

midway interpolation

proposed fix

\_(")_/



Glyph name: oslashacute tolerance: 0.94

kink

''

'MONO=1.0 wght=1000.0'

midway interpolation

proposed fix

\_(")_/



Glyph name: percent

wrong_structure

'wght=800.0061'

'wght=1000.0'

midway interpolation

proposed fix

\_(")_/



Glyph name: percent

wrong_structure

'slnt=-14.0497 wght=800.0061'

'slnt=-14.0497 wght=1000.0'

midway interpolation

proposed fix

\_(")_/



Glyph name: perthousand tolerance: 0.69

wrong_start_point

'wght=800.0061'

'wght=1000.0'

midway interpolation

proposed fix

27



Glyph name: perthousand tolerance: 0.69

wrong_start_point

'slnt=-14.0497 wght=800.0061'

'slnt=-14.0497 wght=1000.0'

midway interpolation

proposed fix

28



Glyph name: uni01C4 tolerance: 0.95

kink

'MONO=1.0 slnt=-14.0497 wght=800.0061'

'MONO=1.0 slnt=-14.0497 wght=1000.0'

midway interpolation

proposed fix

\_(")_/



Glyph name: uni01C4.sans tolerance: 0.92

kink

'CASL=1.0'

'CASL=1.0 MONO=1.0'

midway interpolation

proposed fix

\_(")_/



Glyph name: uni01C5 tolerance: 0.94

kink

'CASL=1.0 MONO=1.0 slnt=-14.0497'

'CASL=1.0 MONO=1.0 slnt=-14.0497 wght=800.0061'

midway interpolation

proposed fix

\_(")_/



Glyph name: uni01C6 tolerance: 0.95

kink

'CASL=1.0 MONO=1.0 slnt=-14.0497'

'CASL=1.0 MONO=1.0 slnt=-14.0497 wght=800.0061'

midway interpolation

proposed fix

\_(")_/



Glyph name: uni01F1 tolerance: 0.95

kink

'MONO=1.0 slnt=-14.0497 wght=800.0061'

'MONO=1.0 slnt=-14.0497 wght=1000.0'

midway interpolation

proposed fix

\_(")_/



Glyph name: uni01F1.sans tolerance: 0.92

kink

'CASL=1.0'

'CASL=1.0 MONO=1.0'

midway interpolation

proposed fix

\_(")_/



Glyph name: uni0303 tolerance: 0.94

kink

'CASL=1.0 MONO=1.0 wght=800.0061'

'CASL=1.0 MONO=1.0 wght=1000.0'

midway interpolation

proposed fix

\_(")_/



Glyph name: uni031B tolerance: 0.76

wrong_start_point

''

'CASL=1.0'

midway interpolation

proposed fix

36



Glyph name: uni1E92.sans tolerance: 0.94

kink

''

'MONO=1.0 slnt=-14.0497 wght=1000.0'

midway interpolation

proposed fix

\_(")_/



Glyph name: uni20A9 tolerance: 0.93

kink

''

'CASL=1.0'

midway interpolation

proposed fix

\_(")_/



Glyph name: uni20B5 tolerance: 0.88

kink

''

'CASL=1.0'

midway interpolation

proposed fix

\_(")_/



Glyph name: uni2198 tolerance: 0.94

kink

'CASL=1.0'

'CASL=1.0 slnt=-14.0497'

midway interpolation

proposed fix

\_(")_/



Glyph name: uni2198 tolerance: 0.94

kink

'CASL=1.0 MONO=1.0'

'CASL=1.0 MONO=1.0 slnt=-14.0497'

midway interpolation

proposed fix

\_(")_/


